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c) Give the Domain
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6. Use the equation to answer the following: G‘vmph & 1Ba et
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a) Find the vertical asymptote c) Find the y-intercept of the graph
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b) Find the horizontal asymptote d) Find the x-intercept of the graph
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Use the equation to answer the foﬂowing:
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a) Find the vertical asymptote c) Find the y-intercept of the graph
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b) Find the horizontal asymptote d) Find the x-intercept of the graph
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9. Use the equation to answer the following:
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a) Find the vertical asymptote c) Find the y-intercept of the graph
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